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APPENDIX - 1

METHOD OF WORKING OUT POISSON'S RATIO
FOR JOINT ELEMENT

Data : Normal displacement dv = -0.0080 cm
Shear displacement du = 0.129 cm
Height of sample = 2.5 cm

' Normal strain = Eyy = 2dv5 = “02‘0508 = -0.0032
s -1 du
Shear strain = ny = tan 55 = 0.052
Shear strain = Exy = X>2<y = 0'252 = 0.026
Principal strains
£, = Eyy \/( Eyy )2+ (Exy)?
1 2 2
_ 0.0032 \/( -0.0032 )2, (g.026)2

= -0.0016 + 0.0260

= 0.0244

%x . \/< UQLY_ )2+ (Exy)?

i

Similarly, €,

= ~0.0016 -~ 0.0260

= -0.0276

. “"'E .
Poisson's ratioVs= £3 = 83522 = 1.13

1




